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This experiment tests the effect of choke type and gun selection on target accuracy in order to
determine the best gun specifications. Three competent shooters of approximately equivalent
marksmanship abilities tested three different choke types (full, modified, and improved) and two
different guns (a Remington 11-87 semi-automatic and a Beretta 682 Gold E). With a confidence
level of 95%, the gun selection ended up to be the only significant factor. The Beretta was found
more accurate than the Remington possibly because the Beretta’s weight is centered in the middle
of the gun while the Remington is a little barrel-heavy. However, if the confidence level is
lowered to 90%, choke type is also significant, with the improved choke more accurate than the
modified or full. Thus, for target shooting, the most accurate combination would be the Beretta
with an improved choke.
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2.1 Introduction & Importance—Make a case for your new research
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2.2 Methods—What did you do?
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2.3 Results—What did you find?
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2.4 Discussion —What does it mean?

W18 EB 2 AT DL D o R SO E I SRR M s, RECAT DL LA
D BE s RA N EEL
2) 5 HAMAE FT T AR B9 45 R EK R E K,
3) W iR 2 F AT 5T AEAE BN 2
4) MR XA R 2 Ab R g R FE B R SR B B AT T )
5) 7 BB FT 45 S o6 A R I R Bk B A e )

FTETEMZ, &35 (Conclusion) B AN IMRAD 45 #4111 ™ 4& 364, 1H
12 FHE T IMRAD 1 3C 2 1) 8 B2 pl S 4 o fE XA BB 40 A, AR B X AR BB AT I A
SR EESE R, FTEEERUITHEIPHAE, HEHBETELSE.



